

Internal operations on \mathcal{D} -modules - (P. Deligne) - Danijel Žilinc.

X \mathbb{C} -manifold, \mathcal{O}_X sheaf of holomorphic vector fields, subsheaf of $\text{End}_{\mathbb{C}}(\mathcal{O}_X)$.

1) $R \in \mathcal{O}_X \rightsquigarrow R \cdot \in \text{End}_{\mathbb{C}}(\mathcal{O}_X)$

2) $\Theta \in \mathcal{O}_X \rightsquigarrow \Theta = \sum a_i \partial_{z_i}$, $R \in \mathcal{O}_X$, $L_{\Theta} R := \sum a_i \partial_i R$.

Remark: $\mathcal{O}_X, \mathcal{O}_X \subseteq \text{End}_{\mathbb{C}}(\mathcal{O}_X)$, $\mathcal{D} = \langle \mathcal{O}_X, \mathcal{O}_X \rangle$ sheaf of differential.

Prop: Let \mathcal{M} be an \mathcal{O}_X -module, $\alpha: \mathcal{O}_X \rightarrow \text{End}_{\mathbb{C}}(\mathcal{M})$, \mathbb{C} -linear

s.t. a) $[\alpha(\Theta), R \cdot] = L_{\Theta} R \cdot$ (resp. $-L_{\Theta} R$)

b) $[\alpha(\Theta), \alpha(\Psi)] = \alpha([\Theta, \Psi])$ $\Psi, \Theta \in \mathcal{O}_X$. (resp. $\alpha[\Psi, \Theta]$)

c) $(R \cdot \alpha(\Theta)) = \alpha(R \Theta)$ (resp. $\alpha(\Theta) \circ (R \cdot) = \alpha(R \cdot \Theta)$)

Then \mathcal{M} is a left \mathcal{D}_X -module. (right \mathcal{D} -module)

Example: \mathcal{O}_X is a left \mathcal{D}_X -module, $L_{\Theta} R := \Theta \cdot R$.

($\dim X = n$) - $\Omega_X = \wedge^n \Omega^1_X$, locally free of rank 1, then Ω_X is a right \mathcal{D} -module.

$\omega \in \Omega_X, \Theta \in \mathcal{O}_X$

$\omega \cdot \Theta := -L_{\Theta} \omega$. (Definition)

In coordinates $\Theta = \sum \Theta^i \partial_{z_i}$ $\omega(z) = a(z) dz_1 \wedge \dots \wedge dz_n$.

$L_{\Theta} \omega = \sum_{i=1}^n \partial_{z_i}(\Theta^i a) dz_1 \wedge \dots \wedge dz_n$

locally $\Theta = \Theta^i \partial_{z_i} \dots$, $\exists \varphi_z: U \rightarrow U$ 1-parameter family of biholo, $z \in \mathbb{C}$ (or \mathbb{R})

$p \in X$, U open neighborhood.

s.t. $\varphi_0 = \text{id}_U$.

$\forall p \in U, (\partial_t \varphi_t(p))|_{t=0} = \Theta(p)$.

$L_{\Theta} \omega := \partial_z(\varphi_t^* \omega)|_{z=0}$



Def: Related to the adjoint of differential operators.

If $w \in \mathcal{D}'$ form
 \mathcal{D} differential operator.
 $f \in \text{Function}$.

$$\int w(Pf) = \int (wP)f$$

\uparrow
 \downarrow
 $(\mathcal{L}Pw)$

Internal operations

\mathcal{D} Mod = category of left \mathcal{D} -modules.

$\mathcal{M}, \mathcal{N} \in {}_{\mathcal{D}}\text{Mod}$, $\mathcal{M} \otimes_{\mathcal{O}_X} \mathcal{N}$ is an \mathcal{O}_X -module.

Lemma: $\forall \theta \in \mathcal{D}$, $m \otimes n \in \mathcal{M} \otimes \mathcal{N}$

$$\theta(m \otimes n) = \theta(m) \otimes n + m \otimes \theta(n)$$

then $\mathcal{M} \otimes \mathcal{N}$ is a left \mathcal{D} -module.

CHECK this is well defined.

It works...

pp, $\alpha: \mathcal{D} \longrightarrow \text{End}_{\mathbb{C}}(\mathcal{M} \otimes_{\mathcal{O}_X} \mathcal{N})$

$$\begin{aligned} &\theta(m \otimes n) \\ &\theta(m \otimes n) \end{aligned}$$

" $[\alpha(\theta), h \cdot] m \otimes n = (L_{\theta} h \cdot)$ "

$$\text{LHS} := \alpha(\theta)(Rm \otimes n) - R(\alpha(\theta)(m \otimes n))$$

$$= (\theta Rm) \otimes n + Rm \otimes \theta n - R[\theta m \otimes n + m \otimes \theta n]$$

$$= R\theta m \otimes n + L_{\theta} Rm \otimes n + Rm \otimes \theta n - R\theta m \otimes n - Rm \otimes \theta n$$

$$= \text{RHS}.$$

...

Lemma: $\text{Hom}_{\mathcal{O}_X}(\mathcal{M}, \mathcal{N})$ is a left \mathcal{D}_X -module with $(\theta f)(m) = \theta(fm) + f\theta(m)$.

RIGHT. $\text{Mod}_{\mathcal{D}} \ni \mathcal{M}, \mathcal{N}$

$$\mathcal{Y} \otimes_{G_X} \mathcal{P}, \quad (m \otimes n)\Theta = (m \otimes n\Theta) + (m\Theta) \otimes n.$$

$\mathcal{Y} \otimes_{G_X} \mathcal{P} \xrightarrow{\mathcal{D}} \mathcal{D}\mathcal{Y} \otimes_{G_X} \mathcal{P}$

$$\mathcal{D}\mathcal{Y} \otimes_{G_X} \mathcal{P} \ni \text{Hom}_{G_X}(\mathcal{Y}, \mathcal{P}) \quad (\Theta f)(m) = f(m)\Theta - f(m\Theta).$$

FIXED: $\mathcal{Y} \in \mathcal{D}\mathcal{Y} \otimes_{G_X} \mathcal{P}, \mathcal{P} \in \mathcal{D}\mathcal{Y} \otimes_{G_X} \mathcal{P}$

$\mathcal{Y} \otimes_{G_X} \mathcal{P}$ with $(m \otimes n)\Theta = (m\Theta) \otimes n - m \otimes \Theta n$ is RIGHT \mathcal{D} -module.

$\text{Hom}_{G_X}(\mathcal{P}, \mathcal{Y})$ $(f\Theta)(n) = f(\Theta n) - f(n)\Theta$ is RIGHT \mathcal{D} -module.

Properties:

$$\begin{array}{ccc} \mathcal{D}\mathcal{Y} \otimes_{G_X} \mathcal{P} & \xrightarrow{\quad} & \mathcal{D}\mathcal{Y} \otimes_{G_X} \mathcal{P} \\ \parallel & \xrightarrow{\quad} & \Omega_X \otimes_{G_X} \mathcal{Y} \end{array}$$

$$\text{Hom}_{G_X}(\Omega_X, \mathcal{P}) \longleftarrow \mathcal{P}$$

Proof: Claim $\mathcal{Y} \xrightarrow{\quad} \text{Hom}_{G_X}(\Omega_X, \Omega_X \otimes_{G_X} \mathcal{Y})$ is an iso of left \mathcal{D} -modules.

$$\begin{array}{ccc} \mathcal{Y} & \xrightarrow{\quad} & \text{Hom}_{G_X}(\Omega_X, \Omega_X \otimes_{G_X} \mathcal{Y}) \\ m & \xrightarrow{\quad} & f_m: \omega \mapsto \omega \otimes m \end{array}$$

it is clear that φ is an iso of G_X -modules

$$\begin{aligned} \Theta \in \mathcal{Y}, \quad (\Theta \cdot f_m)(\omega) &= f_m(\omega\Theta) - \Theta f_m(\omega) \\ &= \omega\Theta \otimes m - \Theta(\omega \otimes m) \\ &= (\omega\Theta) \otimes m - ((\Theta \otimes 1)m - \omega \otimes \Theta n) \\ &= \omega \otimes \Theta m = f_{\Theta m}(\omega) \end{aligned}$$

So $f_{\Theta m} = \Theta f_m$.

Adjoint operator

$\Pi \in \mathcal{D}$ Mod, $\Omega \otimes \mathcal{D}$ is right module.

Proposition: $V \subseteq X$, $\omega \in \Omega(V)$ generator.

For any $P \in \mathcal{D}_X(V)$ there exists a unique $\tilde{P}^\omega \in \mathcal{D}_X(V)$ such that

$$\forall R \in \mathcal{G}_X(V), \quad (\tilde{P}^\omega R) \cdot \omega = (R\omega) \cdot P$$

$$\text{Therefore } P, Q \in \mathcal{D}_X(V) \text{ then } (Q \circ P)^{\tilde{\omega}} = \tilde{P}^\omega \circ \tilde{Q}^\omega \quad (*)$$

pf: locally $P = \sum_{\alpha} a_{\alpha}(z) \partial_j^{\alpha}$, $\omega = a dz_1, \dots, dz_n$, a is never vanishing.

$$(R\omega)P = (R a dz_1, \dots, dz_n)P = \frac{1}{a} \sum_{\alpha} (-\partial_j)^{\alpha} (a_{\alpha} R a) a dz_1, \dots, dz_n.$$

$$= \frac{1}{a} \sum_{\alpha} (-\partial_j)^{\alpha} (a_{\alpha} R a) \omega.$$

$$\tilde{P}^\omega := \frac{1}{a} \sum_{\alpha} (-\partial_j)^{\alpha} (a_{\alpha} a \cdot).$$

$$\begin{aligned} (\tilde{Q}^\omega \circ \tilde{P}^\omega)(R)\omega &= \tilde{Q}^\omega(\tilde{P}^\omega R)\omega = (Q\omega)P = (\tilde{P}^\omega R\omega)Q = (R\omega)PQ \\ &= R\omega(P \circ Q). \end{aligned}$$

Proposition: $\mathcal{D} \in \mathcal{D}$ Mod, there is an explicit description of the \mathcal{D} -module structure on Ω

i.e. $(\omega \otimes m)^{\tilde{P}} = \omega \otimes \tilde{P}^\omega m$

pf: Since $(*)$ we can assume $P = \partial_{z_i}$, locally $\omega = a dz_1, \dots, dz_n$.

$$(\omega \otimes m) \partial_{z_i} = (a \partial_{z_i}) \otimes m - \omega \otimes \partial_{z_i} m$$

$$= -(\partial_{z_i} a) dz_1, \dots, dz_n \otimes m - a dz_1, \dots, dz_n \otimes \partial_{z_i} m.$$

$$= a dz_1, \dots, dz_n \otimes (-\partial_{z_i}(a^{-1})) = \omega \otimes \partial_{z_i}^{\omega}(m) \quad \square$$

The De Rham system

$$\begin{array}{ccc}
 \mathcal{D}|_U \xrightarrow{\pi} \mathcal{D}|_U \xrightarrow{\sigma} G_X & \text{exact } (*). \\
 \mathcal{Q} \xrightarrow{\pi} \mathcal{Q} \\
 (P_i) \xrightarrow{\pi} \Sigma P_i \partial s_i
 \end{array}$$

G_X is the \mathcal{D} -module associated with the system of diff y .
 $\left\{ \begin{array}{l} \partial_1 u = 0 \\ \vdots \\ \partial_n u = 0 \end{array} \right. \quad \forall i=1, \dots, n$

Is there a resolution in free \mathcal{D}_X -modules of G_X ?

KOSZUL COMPLEX: A ring, $\Pi \in \text{Mod}_A$, $e_1, \dots, e_p \in \mathbb{Z}^p$, $\Pi^k = \Pi \otimes \wedge^k \mathbb{Z}^p$

Def: Positive Koszul complex

$$\begin{array}{ccc}
 d: \Pi^k \longrightarrow \Pi^{k+1} & & \Phi \\
 m \otimes e_{i_1, \dots, i_k} \longmapsto \sum (e_j(m) \otimes e_{j, i_1, \dots, i_k}) & & \parallel \\
 & & (\varphi_1, \dots, \varphi_p) \text{ commuting endomorphism of } \Pi.
 \end{array}$$

$m \otimes e_{i_1, \dots, i_k} \quad i_1 < \dots < i_k$
 $m \otimes e_{i_1, \dots, i_k}$

Prop: $d \circ d = 0$.

Notation: $K^+(\Phi, \Pi)$

Def: Negative Koszul complex $K_-(\Phi, \Pi): \delta_k: \Pi^k \longrightarrow \Pi^{k-1}$
 $m \otimes e_{i_1, \dots, i_k} \longmapsto \sum_{j=1}^k (-1)^{j+1} \varphi_j(m) \otimes e_{i_1, \dots, i_{j-1}, i_{j+1}, \dots, i_k}$

Prop: $\delta \circ \delta = 0$.

Proposition: If φ_i is injective and $\varphi_j = \frac{\Pi}{\langle \varphi_1, \dots, \varphi_p \rangle}$ is injective then,

$$H_*(K_-(\Phi, \Pi)) = \begin{cases} 0 & \text{if } k \neq 0. \\ \frac{\Pi}{\langle \varphi_1, \dots, \varphi_p \rangle} & \text{if } k = 0. \end{cases}$$

FACT: There exists $w^k: \Pi^k \xrightarrow{\lambda \cdot \text{em}} \Pi^{p-k}$ such that

$$w^k(m \otimes e_{i_1, \dots, i_k}) = \Delta m \otimes e_{j_1, \dots, j_{p-k}} \quad \text{where } \Delta = \text{sign}(i_1 \dots i_k j_{p-k})$$

$\{i_1, \dots, i_k\} \cup \{j_1, \dots, j_{p-k}\} = \{1, \dots, p\}$

Moreover $d^{p-k} \circ w^k = (-1)^{k-1} w^{k-1} \circ d^k$
 $(-1)^{\frac{k(k-1)}{2}} w^k: \Pi^k \longrightarrow \Pi^{p-k}$ gives an isomorphism of complexes.

$$K_-(\Phi, \Pi) \cong K^+(\Phi, \Pi)[p].$$

In particular $H_k(\mathbb{C}, \Pi) = H^{p-k}(\mathbb{C}, \Pi)$.

Universal SPENCER AND DE RHAM COMPLEXES.

Consider

Def: (Spencer complex) $\mathbb{C}^p := \wedge^p \mathbb{C}$

$SP_p := \mathcal{D} \otimes_{G_X} \mathbb{C}^p$

$$\delta^p: SP_p \xrightarrow{\mathcal{D} \otimes \mathbb{C}^p} SP_{p-1}$$

$$Q \otimes (\partial_1 \wedge \dots \wedge \partial_p) \mapsto \sum_{i=1}^p (-1)^{i-1} (Q \partial_i) \otimes \partial_1 \wedge \dots \wedge \widehat{\partial}_i \wedge \dots \wedge \partial_p$$

$$+ \sum_{i < j} (-1)^{i+j} Q \partial_{[ij]} \otimes \partial_1 \wedge \dots \wedge \widehat{\partial}_i \wedge \dots \wedge \widehat{\partial}_j \wedge \dots \wedge \partial_p$$

Exercise $\delta \circ \delta = 0$.

Proposition: ~~...~~

The \mathcal{D}_X -linear morphism

$$\begin{array}{ccc} \mathcal{D}_X & \longrightarrow & G_X \\ \mathcal{Q} & \longrightarrow & \mathcal{Q} \otimes \mathbb{C} \end{array}$$

induces a quasi-isom. $SP_\bullet \simeq G_X$.

pp: $U \subseteq X$ coordinate chart

$$\delta(Q \otimes \partial_{z_1} \wedge \dots \wedge \partial_{z_p}) = \sum_{i=1}^p (-1)^{i-1} (Q \partial_{z_i}) \otimes \partial_{z_1} \wedge \dots \wedge \widehat{\partial}_{z_i} \wedge \dots \wedge \partial_{z_p}$$

Hence $SP_\bullet|_U = \kappa((\cdot \partial_{z_1}, \dots, \partial_{z_p}), \mathcal{D}|_U)$.

- ∂_{z_i} is injective on $\mathcal{D}|_U$.
- $\partial_{z_j} \frac{\mathcal{D}}{\mathcal{D}_{\partial_{z_1}, \dots, \partial_{z_j}}}$ is injective.

Use the order filtration? directly.

We get $H_k(SP|_U) = \begin{cases} 0 & k \neq 0 \\ \mathcal{D}|_U / \mathcal{D}_{\partial_{z_1}, \dots, \partial_{z_p}} & k = 0 \end{cases} = G_X|_U$